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Synonyms: Choose the word that is the closest in meaning to the given words: 
1. What is the synonym of "benevolent"?   
  (1) Cruel (2) Kind (3) Greedy (4) Weak 
2. What is the synonym of "transparent"? 
  (1) Opaque (2) Clear (3) Hidden (4) Unclear 
3.  What is the synonym of "meticulous"?  
  (1) Careful (2) Lazy (3) Clumsy (4) Indifferent 
4. What is the synonym of "audacious"?   
  (1) Bold (2) Timid (3) Weak (4) Careless 
 
Antonyms: Choose the word that is opposite in meaning to the given word. 
5. What is the antonym of "optimistic"?   
  (1) Positive (2) Hopeful (3) Pessimistic (4) Cheerful 
6. What is the antonym of "intricate"?   
  (1) Complicated (2) Complex (3) Simple (4) Elaborate 
7. What is the antonym of "vivid"? 
  (1) Dull (2) Clear (3) Bright (4) Intense 
 
Identify the part of speech of the underlined word. 
8. The dog barked loudly.   
  (1) Noun (2) Verb (3) Adverb (4) Adjective 
9. She is a very intelligent student.  
  (1) Noun (2) Verb (3) Adverb (4) Adjective  
10. Wow! That’s a great idea.  
  (1) Verb (2) Interjection (3) Adverb (4) Conjunction 
 
Choose the correct arrangement of the jumbled words. 
11. Arrange: the / went / cinema / yesterday / we / to   
  (1) We went to the cinema yesterday.  
  (2) To we the cinema went yesterday.  
  (3) Yesterday we the cinema went to.  
  (4) Went yesterday cinema we to the.  
12. Arrange: football / loves / he / playing   
  (1) He loves playing football.  (2) Playing football he loves.  
  (3) Loves football playing he.  (4) He playing loves football. 
 
Identify the type of sentences given below: 
13. "How wonderful this place is!"   
  (1) Declarative (2) Imperative (3) Exclamatory (4) Interrogative   
14. "She is reading a book."   
  (1) Declarative (2) Imperative (3) Exclamatory (4) Interrogative 
15. "Be quiet during the lecture." 
  (1) Declarative (2) Imperative (3) Exclamatory (4) Interrogative 
 
Vocabulary: Choose the correct meaning of the word or complete the sentence. 
16. The word "reluctant" means:  
  (1) Eager (2) Hesitant (3) Confident (4) Enthusiastic 
17. The word "fascinate" means: 
  (1) Bore (2) Capture attention (3) Disgust (4) Ignore 
 
Fill in the blank. 
18. He has a very ______ attitude toward his work. 
  (1) Enthusiastic (2) Lazy (3) Angry (4) Indifferent  
19. She felt ______ about the exam results.   
  (1) Nervous (2) Awkward (3) Bored (4) Indifferent 
20. Which of the following words is a verb? 
  (1) Wound (2) Dog (3) Cut (4) Bright     
 

ENGLISH
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21. Which of the following option correctly defines a staple food? 
 
  
  (1) Foods consumed occasionally / /   
  (2) Foods consumed almost daily / /  
  (3) Fast foods consumed daily / /     
  (4) None of these / /  
22. Which of the following is not considered as producer? 
 
  
  (1) Potato /   (2) Maize plant / /   
  (3) Eggs / /   (4) Algae / /  
23. Which of the following vegetable is a modified stem? 
  
 
   
 
  (1) (2) (3) (4)  
  
 
24. Which of the following correctly describes a scavenger? 
 
  
  (1) An animal that feeds on dead plant or animal matter  

/  
  (2) An animal that feeds on plants /  
        /  
  (3) An animal that eats the flesh of other animal  
        /   
  (4) An animal that eats insects / /  
25. The tincture of iodine is a mixture of – 
 _______  
 _______  
  (1) Iodine and Ethanol / /   
  (2) Iodine and Methanol / /   
  (3) Iodine and Acetic acid / /    
  (4) Iodine and Caustic Soda / /  
26. Which of the following is not a natural fibre? 
 
  
  (1) Cotton / /   (2) Hemp /   
  (3) Rayon / /   (4) Linen /  
27. Which of the following gets directly converted into gas? 
 
  
  (1) Ice / /    
  (2) Ammonium chloride / /    
  (3) Sodium chloride / /   
  (4) Magnesium oxide / /  
 

GENERAL SCIENCE / / 
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28. Which of the following is the aerial modification of stems? 
  
  
   
 
   
  (1) (2) (3) (4)  
   
 
 
29. Which of the following is not a pollinating agent? 
 

  (1) Bees / /   (2) Butterfly / /   
  (3) Wind / /   (4) Sunlight / /  
30. Synovial fluid is found in the –________ 
 ________
 ________
  (1) Muscles /   
  (2) Freely movable joints / /   
  (3) Slightly movable joints / /   
  (4) Immovable joints / /  
31. Most animals can move from one place to another. This type of movement is known as 
 ________
  
  (1) Movement / /   
  (2) Transportation / /    
  (3) Conduction / /   
  (4) Locomotion /  
32. Joint that allows only back and forth movement is called – 
 
  
  (1) Ball and socket joint / /   
  (2) Pivotal joint / /   
  (3) Hinge joint / /    
  (4) Fixed joint / /  
33 The framework which gives shape to our body – 
 
  
  (1) Spine / /   (2) Skeleton / /   
  (3) Pelvic girdle /   (4) Sternum / /  
34. The longest mountain range is known as – 
 
  
  (1) High-ocean ridge / /    
  (2) Mid-ocean ridge / /   
  (3) Low-ocean ridge / /   
  (4) Plateau mountain ridge / /  
35. Blowholes are not present in_____ 
 
 _____  
  (1) Humpback whale / /  (2) Dolphins /   
  (3) Starfish / /   (4) Blue whale / /  
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 36. 4.5 km is equivalent to – 
 4.5
 4.5 _____  
  (1) 45 hm  (2) 450 hm  
  (3) 0.45 hm  (4) 4.5 hm 
37. The type of motion shown by a car on a curved path is – 
 _____
 _____  
  (1) Rectilinear motion / /    
  (2) Curvilinear motion / /   
  (3) Spiral motion /    
  (4) Parabolic motion / /  
38. 212°F is equivalent to – 
 212°F 

212°F _____  
  (1) 0°C (2) 100°C (3) 50°C (4) 25°C 
39. Which of the following instrument is used to measure the temperature of the body? 
 
  
  (1) Lactometer / /   
  (2) Thermometer / /  
  (3) Sphygmomanometer / /   
  (4) Odometer / / 
40. Which of the following metal is the best conductor of electricity? 
 
  
  (1) Ag (2) Cu (3) Sn (4) Fe 
41. A freely suspended magnet always comes to rest in – 
 _____
 _____  
  (1) North-South direction / /    
  (2) South-North direction / /   
  (3) East-West direction / /    
  (4) West-East direction / /  
42. Which among the following does a magnetic compass never contain? 
 
  
  (1) Magnetic needle /    
  (2) Glass covering / /   
  (3) Prism /    
  (4) Brass or some other metal / /  
43. Which of the following is not a artificial luminous object? 
 
  
  (1) Candles / /   (2) Bulb / বা�  
  (3) lamps / /   (4) Star / /  
44. Which of the following is not a greenhouse gas? 
 
  
  (1) 2CO   (2) 4CH   
  (3) 2N O   (4) HCN   
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45. Approximately what percentage of fresh water is found in ice glaciers? 
 
  
  (1) 69% (2) 50% (3) 97% (4) 30% 
46. The pattern of stars we see in the night from a given place – 
 
  
  (1) Changes throughout the night with every passing hour  

/   
  (2) Stays same through the night, but changes every night /  
         /  
  (3) Stays almost the same night to night, but changes every year /  
        /   
  (4) Hardly changes, stays almost the same over many years  

/    
47. Vaccum is a – 
 
  
  (1) Opaque medium /    
  (2) Transparent medium /   
  (3) Translucent medium /    
  (4) Heterogeneous medium /  
48. Rectilinear propagation of light means – 
 
  
  (1) Light travels in straight line / /   
  (2) Light travels in curved path / /   
  (3) Light travels in zig-zag path / /    
  (4) Light travels in circular path / /  
49. When a bar magnet is brought near an iron dust, most of the dust sticks 
 _____
 _____  
  (1) Near the middle / /    
  (2) Equal to everywhere / /   
  (3) Near two ends / /    
  (4) At the middle and ends / /  
50. The north pole of the Earth’s magnet is near the geographical – 
 
 _____  
  (1) West /   (2) East / /   
  (3) North / /   (4) South / 
51.     What amount of water is normally recommended for an individual to drink daily? 
 
  
  (1) 2-3 litres / 2-3  / 2-3                    (2) 4-5 litres / 4-5  / 4-5                                      
  (3) 6-7 litres / 6-7 / 6-7                                        (4) 1-1.5 litres / 1-1.5 / 1-1.5  
52.  Which of the following do not provide nutrients to our body? 
 
  
   (1) Carbohydrates / /                       (2) Roughage /  /                                      
   (3) Ghee / /                                                           (4) Meat /  
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53.  Which of the following is a water soluble vitamin? 
 
  
  (1) Vitamin C / C                  (2) Vitamin A / A                                  
  (3) Vitamin K / K                                    (4) Vitamin D / D                                  
54.  The gaseous blanket surrounding the planet Earth is made up of a poisonous gas known as – 
 
  
  (1) Ozone / /                                          (2) Oxygen /                         
  (3) Carbon dioxide /             (4) Nitrogen /  /  
55.  The gradual heating up of Planet Earth is correctly defined as – 
 _____
 _____  
  (1) Greenhouse effect /  /            
  (2) Global warming /  /                  
  (3) Volcanic eruption / /                 
  (4) Both 2 and 3 / 2 3 / 2 3  
56.  Which of the following is translucent in nature? 
 
  
  (1) Frosted glass /   (2) Glass pane / /                                
  (3) Glass slab / /  (4) Wooden block / /  
57.  Which of the following device is used to measure the distance travelled by a vehicle? 
 
  
  (1) Odometer / /                     
  (2) Speedometer / /                
  (3) Measuring scale / /              
  (4) Measuring tape / /             
58.  Which of the following instrument is used to measure accurately a very small length? 
 
  
  (1) Vernier caliper /  /                     
  (2) Measuring scale / /                      
  (3) Measuring tape / /                           
  (4) Hand span / /  
59.  Which of the following is not a standard unit of measurement? 
 
  
  (1) Handspan / /                     
  (2) Metre /  /                                                  
  (3) Pound /                            
  (4) Kilogram /  
60.  How many bones are present in an adult human beings body? 
 
  
   (1) 206                             (2) 300                              (3) 350                                (4) 280 
61.  Which of the following is the largest bone of human body? 
 
  
  (1) Femur /  /                                             (2) Humer / /                                              
  (3) Ulna /                        (4) Tibia /  
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62.  Which of the following is not a freely movable joint? 
 

 
  (1) Knees /  /                                                 
  (2) Wrists / /                                                 
  (3) Ankles /  /                                                  
  (4) Joint of spines /  /  
63.  Which of the following part of flower is the male reproductive organ of plants?  
 
  
  (1) Anther /  /                                              (2) Stigma /                           
  (3) Pistil / /                              (4) Carpel / /  
64.  The outermost part of a fruit is named as – 
 

  (1) Epicarp /                      (2) Mesocarp /  /                      
  (3) Endocarp /                       (4) Mesothelia / /  
65.  The flat and thin part of leaf rich in chlorophyll is known as – 
 / 
  
  (1) Margin /                        (2) Veins / /                                                      
  (3) Lamella /                         (4) Lamina /  
66.  Stomata is used by plants to – 
 
 _____  
  (1) Carryout transpiration /                                         
  (2) Exchange of gasses / /  
  (3) Both 1 and 2 / 1 2 / 1 2                                                        
  (4) Only 1 / 1 / 1 
67.  Which of the following technique is generally used while harvesting cotton ball from cotton plant – 
 
  
  (1) Handpicking /  /                  
  (2) Winnowing / /                  
  (3) Harvester /  /                             
  (4) Thresher / /  
68.  Which of the following separation technique is used to separate grains from chaff – 
 
  
  (1) Threshing / /                       (2) Winnowing / /                 
  (3) Decantation /  /                     (4) Handpicking / /                
69.  In a sedimentation tank the liquid component is known as – 
 _____ 

 
  (1) Sediment / /                                            (2) Supernatent /  /            
  (3) Precipitate /            (4) Mixture /  
70.  The component of solution which dissolves the other component in it is known as – 
 
  
  (1) Solute /                                (2) Solvent /  /                                                   
  (3) Dispersed phase /       (4) Both 1 and 3 / 1 3 / 1 3  
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71.  Which of the following correctly defines the importance of loading in water purification system – 
 
  
   (1) To remove the large solid particles from impure water. 
         /  
   (2) To remove the minute solid suspended particles from impure water.  
         /    
   (3) To remove the large solid suspended particles from impure water. 
         /  
   (4) To remove liquid component from the impure water.  
         /  
72.  A solution where no more solute can get dissolved at a given temperature is known as – 
 _____
 _____   
   (1) Supersaturated solution / /          
  (2) Saturated solution /  /                
  (3) Dilute solution /  /           
  (4) None of these / /  
73.  The substance which donot get dissolved in water is known as – 
 _____
  
  (1) Soluble substance /  /                                
  (2) Insoluble substance /  /           
  (3) Salt /  /                                             
  (4) Both 2 and 3 / 2 3 / 2 3  
74.  Which of the following is not a magnetic material? 
 
  
  (1) Iron /  /                                                                   (2) Diamond /  /                                             
  (3) Cobalt /    (4) Nickel /   
75.  Which of the following gas is insoluble in water? 
 
  
  (1) Carbon dioxide /                 
  (2) Oxygen /                      
  (3) Nitrogen /  /                             
  (4) Carbon monoxide /  
76.  Which of the following matter posses a very weak intermolecular force of attraction – 
 
  
  (1) Iron / /       (2) Water vapour /              
  (3) Butter /                   (4) Milk / /  
77.  The flow of charges across a conductor is known as – 
 
 _____  
   (1) Voltage /  /                  (2) Current /                                                       
   (3) Resistance / /                                       (4) Potential difference /  /                                                          
78.  The amount of space occupied by a matter is known as – 
 _____
 _____  
  (1) Mass /  /                                                (2) Area /                                
  (3) Volume /                    (4) Weight /  
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79.  Which of the following is a chemical change? 
 
  
  (1) Growth of plant / /                                        
  (2) Decompositon of calcium carbonate / /  
  (3) Melting of ice / /                                            
  (4) Boiling of water / /   
80.  Which of the following is a physical property – 
 
  
   (1) Decomposition /                 (2) Solubility /  /                                   
   (3) Basicity /  /                    (4) Rancidity / 

 
 
 
81. The English alphabet ‘Z’ represents a/an______ curve. 
 ‘Z’ ______ 
 ‘Z’  
  (1) Closed /    (2) Open /   
  (3) Polygon /   (4) Triangle /  
82. Prime factorisation of 324 in exponential form is - 
 324 
 324  
  (1) 21× 31×9 (2) 22× 3×9 (3) 22×34 (4) 2×32×9 
83. Value of expression 1– 2 + 3– 4 + 5 is -  
 1– 2 + 3– 4 + 5 

1– 2 + 3– 4 + 5 
  (1) 3 (2) –3 (3) Zero /  (4) –1 
84. 2, 3, 9 when used once, can be arranged to form_____ distinct 3-digit numbers. 
 2, 3, 9 _____ 

2, 3, 9 
  (1) 3 (2) 4 (3) 5 (4) 6 
85. Which of the following number is a prime number?  
 
  
  (1) 161 (2) 111 (3) 139 (4) 203 

86. 3 ( 2) 5 ( 1)
4 4 4 4

− −
+ + + =   

  (1) 5
4

 (2) 15
4

 (3) 6
4

 (4) 2
4  

87. The fraction equivalent to 15
27

is - 

 15
27  
15
27  

 

  (1) 30
27

 (2) 45
9

 (3) 3
9

 (4) 5
9  

88. 13 + (12 – 6 × 3) = 
  (1) 8  (2) 6  
  (3) 5  (4) 7 
 

GENERAL MATHEMATICS  / /  
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89.  
 
 
 
 NO and PQ are –  /  NO PQ /  NO PQ  
  (1) Parallel lines / /  (2) Intersecting lines / /  
  (3) Rays / /   (4) Line segment / / 
90. How many pairs of adjacent angles does a quadrilateral have?  
 

 
  (1) Two /   (2) Three / /   
  (3) Four / /   (4) Six / 
91. The sides of a triangle are 5.3 cm, 4.2 cm and 6.6 cm length. The type of the triangle is -  
 5.3 cm, 4.2 cm 6.6 cm  
 5.3 cm, 4.2 cm 6.6 cm  
  (1) Right angle triangle /    
  (2) Equilateral triangle /    
  (3) Scalene triangle /   
  (4) None of these / /    
92. What is the value of x in the following parallelogram? 
 x

x  

  
  (1) x =17 (2) x =19 (3) x =20 (4) x =18.5  
 

93. 35901
100

 in decimals can be written as  

 35901
100  

35901
100  

 

  (1) 3.5901 (2) 35.901  (3) 359.01 (4) 3590.1 
94. In a city, the temperature was –14°F in the morning. If the temperature dropped by 7°F, What is the temperature 

now?  
 –14°F, 7°F

–14°F 7°F  
  (1) 21°F (2) –21°F (3) –7°F (4) 7°F 
95. The value of x in the 2x + 3 = 7 is  
 2x + 3 = 7 x

2x + 3 = 7 x  

  (1) 7
3

 (2) 7
2

 (3) 2 (4) –3 
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96. The cost of petrol is increased by 12%, find the increased amount if the cost is ₹54 per liter.  
 12% ₹54 
 12% 54 /  
  (1) ₹ 6.50 (2) ₹6.48 (3) ₹6.58 (4) ₹6.00 
 
 
 
 
 
97.  
 
 
 
 
 
 
 
 
 In the given figure, ∠ NOL is a/an 
 ∠ NOL / ∠ NOL  
  (1) Acute angle /     (2) Obtuse angle /   
  (3) Right angle /     (4) Straight angle / /  

98. The multiplicative inverse of 22
3

 is  

 22
3
22
3

 

  (1) 8
3

  (2) 8
3
−   

  (3) 3
8

  (4) 1 

99. In the figure below, m || p; t is a transversal. If ∠ a = 50°, then find ∠ z 
 m || p; t ∠ a = 50°, ∠ z

m || p t ∠ a = 50° ∠ z  

  
  (1) 130°  (2) 80°  
  (3) 50°  (4) None of these / /   
100. Find the square root of 144. 
 144 

144  
  (1) 22 (2) 11 (3) 14 (4) 12 
101. A sum of ₹12,500 amounts to ₹15,500 in 4 years at a rate of simple interest. What is the rate of interest? 
 12,500 4 15,500 

12,500 4 15,500   
  (1) 4% (2) 6% (3) 6.5% (4) 4.5% 
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102.  
 
   
 
 
 
 The names of angles which are neither angles of the triangle nor its exterior angles 
 

  (1) ∠ AXB,∠ EYF,∠ YXZ  (2) ∠ AXB,∠ EYF,∠ CZD  
  (3) ∠ AXB,∠ ZXY,∠ CZD   (4) None of these / /  
103. Find the area of the square if its side measure 4.2 cm.  
 4.2 

4.2  
  (1) 17.64 cm  (2) 15.64 cm2 (3) 17.64 cm2 (4) 15.64 cm 
104. The expression 21b- 32 + 7b- 20b on simplification gives  
 21b- 32 + 7b- 20b 
 21b- 32 + 7b- 20b  
  (1) 8b + 32 (2) 8b – 32 (3) 32 – 8b (4) 24b  
105. If∆ ABC is a right angled triangle, then relation between side lengths a, b and c is given by: 
 ABC a, b c
 ABC a, b c  

  
  (1) a2 = b2 + c2 (2) b2 = a2 + c2 (3) c2 = a2 – b2 (4) c2 = a2 + b2 

106. If on adding 9 to twice of a whole numbers gives 31, then the whole number is -   
 9 31   
 9 31  
  (1) 21 (2) 16 (3) 11 (4) 7 
107. (–5) + 9 + (–5) + (–10) +1 is equal to  
 (–5) + 9 + (–5) + (–10) +1 

(–5) + 9 + (–5) + (–10) +1  
  (1) 13 (2) –13 (3) –10 (4) 10 
108. In the following diagram, measure of A∠ is  
 A∠

A∠  

  
  (1) 60° (2) 100° (3) 120° (4) 150° 
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109. The ages of Biju and Karan are in the ratio 7 : 5. Ten years hence, the ratio of their ages will be 9 : 7 find their 
present age. 

 7 : 5 9 : 7 

 7 : 5 9 : 7  
  (1) Biju = 5 years, Karan = 5 years / = 5 = 5 / = 5 = 5   
  (2) Biju = 7 years, Karan = 5 years / = 7 = 5 / = 7 = 5   
  (3) Biju = 35 years, Karan = 25 years / = 35 = 25 / = 35 = 25   
  (4) None of these / / 
110. Five added to a one third of a number gives twice the number, then the number is:   
 
  
  (1) 3 (2) 4 (3) 5 (4) 6 
111. How many vertices do the following shapes have? 
 

   
  (1) Sphere: 0, Cylinder: 2 / : 0 : 2 / : 0 : 2   
  (2) Sphere: 1, Cylinder: 0 / : 1 : 0 / : 1 : 0  
  (3) Sphere: 0, Cylinder: 0 / : 0 : 0 / : 0 : 0   
  (4) Sphere: 0, Cylinder: 1 / : 0 : 1 / : 0 : 1 
112. If 12.543 is distributed in 100 parts, then each parts equals  
 12.543 100 

12.543 100  
  (1) 125.43 (2) 1254.3 (3) 1.2543 (4) 0.12543 
113. If a, b and c are integers then, according to distributive law which of the following is correct? 
 a, b c

a, b c  
  (1) a × (b + c) = a × b + a × c  (2) a × (b + c) = a + b × a + c 
  (3) a × (b + c) = a × b × a × c  (4) a × (b + c) = a × c – a × b 
 
 
 
 
114.  
 
 
 
 
 The shaded region in the above figure represents  
 _____ 

_____  
  (1) Radius /     (2) Segment /   
  (3) Sector /   (4) Diameter /  
115. A number is chosen at random from 1 to 5. What is the probability that the numbers chosen is odd?  
 1 5 

1 5  

  (1) 2
5

 (2) 3
5

 (3) 1
4

 (4) 1
6  
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116. The integer –2 – (–5) can also be written as - 
 –2 – (–5) ______
 –2 – (–5) ______  
  (1) –2 + (–5) (2) –2 + 5 (3) 2 – 5 (4) 2 + 5 
117. The figure given below is made up of three squares of sides 5 cm. What is the perimeter of the figure? 
 5 
 5  

 
  (1) 15 cm (2) 30 cm (3) 40 cm  (4) 50 cm 
118. a × a× a ×a ×y × y ×y × y × z× z can be written as   
 a × a× a ×a ×y × y ×y × y × z× z  ______

a × a× a ×a ×y × y ×y × y × z× z  ______  
  (1) a4 y4 z2 (2) ayz10 (3) ay8 z2 (4) ayz8 

119. Find the cube root of 343. 
 343 

343  
  (1) 17  (2) 7  
  (3) 9  (4) None of these / /    
 
 
 
 
120.  
 
 
 
 Triangles having B∠ as common are: 
 B∠ / B∠    
  (1) ABD and ADC∆ ∆ / ABD∆ ADC∆ / ABD∆  ADC∆    
  (2) ABD and ABC∆ ∆ / ABD∆ ABC∆ / ABD∆ ABC∆   
  (3) ABC and ADC∆ ∆ / ABC∆ ADC∆ / ABC∆ ADC∆   
  (4) None of these / / 

 
 
 
121. Look at this series: 7, 10, 8, 11, 9, 12, what number should come next? 
 7, 10, 8, 11, 9, 12 

7, 10, 8, 11, 9, 12   
  (1) 7 (2) 10 (3) 12 (4) 13 
122. A man said to Lady, “Your mother’s husband’s sister is my aunt”. How is the lady related to the man? 
 
   
  (1) Grand Daughter /   (2) Daughter / /  
  (3) Sister / /   (4) Mother /  
123. The value of sum (CD + DC) in Roman numerals is –   
 (CD + DC) 

(CD + DC)    
  (1) CCC (2) DCC (3) CM (4) M 

 

REASONING / / 
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124. Fill the correct symbol in the box. 
 
  

5,760 24 1, 892 898÷ +  
  (1) > (2) ˂ (3) = (4) ≥  
125. What number am I? 
  ● I am a two digit even number. 
  ● I am a common multiple of 6 and 7. 
  ● I have a total of 12 factors. 
 / 

● / 
● 6 7 / 6 7 
● 12 / 12   

  (1) 35 (2) 42 (3) 36 (4) 84  
126. Which word will best complete relationship given below – 
  Moon : Satellite : : Earth : ?  
 

: : : : ? 
 

: : : : ? 
  (1) Planet /   (2) Sun /   
  (3) Solar System / /  (4) Mars / /  
127. If Code of ‘EL’ is ‘GN’, then find the code of ‘BD’. 
 ‘EL’ ‘GN’ ‘BD’

‘EL’ ‘GN’ ‘BD’    
  (1) CE (2) BC (3) DE (4) DF 
128. Choose the pair in which the words show the same relationship as in the pair given below. 
 

 
  Cholera : Water / : / :     
  (1) Cat : Plague / :  / :  
  (2) Malaria : Mosquito / : / :  
  (3) Poison : Death / :     
  (4) None of these / /  
129. Find odd one out : 
 
  
  (1) Mare / /  (2) Cub / /  
  (3) Horse / /   (4) Pony /  /    
130. Arrange the following words in a logical and meaningful order.  
 

 
1. Eat / / , 2. Rinse / / , 3. Buy / 4. Cut / / , 5. Cook/ /  

  (1) 4, 3, 5, 2, 1 (2) 1, 3, 5, 4, 2 (3) 3, 2, 4, 5, 1 (4) 2, 4, 3, 5, 1 
131. ‘Cardiologist’ is related to ‘Heart’ in the same way as ‘Chiropractor’ is related to –  
  ‘Cardiologist’ ‘Heart’ ‘Chiropractor’ ______   
 ‘Cardiologist’ ‘Heart’  ‘Chiropractor’   
  (1) Chest (2) Joints (3) Foot (4) Skin  
132. If C = 3, BAD = 7, then what is the value of BAT –   
 C = 3, BAD = 7, BAT
 C = 3, BAD = 7, BAT
  (1) 20 (2) 22 (3) 23 (4) 24 
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133. Select the Venn diagram that best illustrate the relationship between the following series –  
 Lecturers, Singers, Men 
  
  
 
 
    
  (1) (2) (3) (4)   
 
 
134. Pick the odd word out –   
 
  
  (1) History /   (2) Political science / /  
  (3) Sociology /   (4) Biology / /  
135. Select the correct option for the given series –  
  GI : KN : : PQ : ? 
 GI : KN : : PQ : ? 

  GI : KN : : PQ : ? 
  (1) TX (2) TV (3) VT (4) UV 
136. The different positions of a dice are shown. Which number appears on the face opposite the number 6? 
 6 

6 
 

 
  (1) 1 (2) 2 (3) 3 (4) 4 
137. What will be the mirror image of the word ‘TOP’ –  
  TOP
 TOP  
  (1)  (2) POT (3) OTP (4) PTO  
138. If ‘+’ mean ‘÷’, ‘÷’ means ‘–’ then 20 + 4 ÷ 4 is equal to – 
 ‘+’ ‘÷’ ‘÷’ ‘–’ 20 + 4 ÷ 4   
 ‘+’ ‘÷’ ‘÷’ ‘–’ 20 + 4 ÷ 4      
  (1) 1 (2) 2 (3) 4 (4) 5 
139. If 5 @ 4 = 20 and 6 @ 4 = 24 then 7 @ 2 = ?   
 5 @ 4 = 20 6 @ 4 = 24 7 @ 2 = ?   
 5 @ 4 = 20 6 @ 4 = 24 7 @ 2 = ?   
  (1) 16 (2) 9 (3) 14 (4) 3.5 
140. Find the odd one out –  
 

  (1) Triangle /   (2) Rectangle /   
  (3) Square /   (4) Cube /  
141. Find the number of squares in a 2 × 2 grid. 
 2 × 2 

2 × 2 
  (1) 4 (2) 5 (3) 6 (4) 8 
142. How many days are there in x weeks x days?  
 x  x

x  x  
  (1) 7x2 (2) 14x (3) 8x (4) 7x 
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143. The perimeter of a square is 64 cm. Find the area?  
 64 

64  
  (1) 56 (2) 64 (3) 256 (4) 260 
144. The largest number from among 432, 3 and 4  is –  

 32, 3 4 4
32, 3 4 4

  (1) 2   (2) 3 3   

  (3) 4 4   (4) All are equal / /  
145. The difference between length and breadth of a rectangle is 23 m. If its perimeter is 206 m, then its area is –  
  23 m 206 m
 23 m 206 m  
  (1) 1520 m2 (2) 2420 m2 (3) 2480 m2 (4) 2520 m2   
146. In which of the following is an irrational number? 
 

 

  (1) 4  (2) 256  (3) π  (4) 2.4  
147. How many prime numbers are less than 50? 
 50 

50   
  (1) 16 (2) 15 (3) 14 (4) 13 
148. Choose the odd pair from the given alternatives –   
 

 
  (1) Day : Night / : / :  (2) Up : Down / : / :   
  (3) Across : Along / : / :  (4) Small : large / : / :  
149. If 2 # 3 @ 6 = 12 and 4 # 2 @ 5 = 13 then 1 # 7 @ 3 will be –   
 2 # 3 @ 6 = 12 4 # 2 @ 5 = 13 1 # 7 @ 3   
 2 # 3 @ 6 = 12 4 # 2 @ 5 = 13 1 # 7 @ 3    
  (1) 10 (2) 22 (3) 11  (4) 12 
150. If 40 + 10 = 30, 18 + 8 = 10, then 60 + 60 =________ 
 40 + 10 = 30, 18 + 8 = 10 60 + 60 =________ 
 40 + 10 = 30, 18 + 8 = 10 60 + 60 =________ 
  (1) 120 (2) 3600 (3) 0 (4) 90 
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